
䈀甀氀氀攀琀椀渀
伀挀琀漀戀攀爀
㈀欀㈀　

䄀氀氀 挀漀甀爀猀攀猀 渀漀眀 愀瘀愀椀氀愀戀氀攀 漀渀氀椀渀攀

䤀儀匀 䌀漀爀瀀漀爀愀琀攀
嘀椀搀攀漀



䘀爀漀洀 琀栀攀 䐀椀爀攀挀琀漀爀ᬠ猀 搀攀猀欀⸀
䠀攀氀氀漀 攀瘀攀爀礀漀渀攀℀

䄀渀漀琀栀攀爀 焀甀愀爀琀攀爀 椀猀 漀瘀攀爀 ጠ 䨀甀氀礀 琀漀 匀攀瀀琀攀洀戀攀爀 ㈀　㈀　⸀ 䠀愀氀昀 琀栀攀 昀椀渀愀渀挀椀愀氀 礀攀愀爀 椀猀 漀瘀攀爀⸀ 
䄀氀氀 漀昀 甀猀 愀爀攀 渀漀眀 最攀愀爀椀渀最 甀瀀 昀漀爀 琀栀攀 猀攀挀漀渀搀 栀愀氀昀Ⰰ 琀漀 昀椀渀椀猀栀 漀甀爀 爀愀挀攀 眀椀琀栀 琀栀攀 猀攀琀 琀愀爀ⴀ
最攀琀猀℀
吀栀攀 猀椀琀甀愀琀椀漀渀 漀昀 䌀漀瘀椀搀ⴀ㄀㤀 挀漀渀琀椀渀甀攀猀⸀ 一漀眀 琀栀攀 漀甀琀氀漀漀欀 栀愀猀 挀栀愀渀最攀搀⸀ 䤀琀ᬠ猀 渀漀眀 氀椀瘀椀渀最 
眀椀琀栀 䌀漀瘀椀搀ⴀ㄀㤀⸀ 䤀 栀漀瀀攀 琀栀椀猀 椀猀 愀渀 椀渀琀攀爀椀洀 瀀栀愀猀攀Ⰰ 琀椀氀氀 猀漀洀攀 最愀洀攀 挀栀愀渀最攀爀 氀椀欀攀 琀栀攀 瘀愀挀挀椀渀攀 
挀漀洀攀猀 甀瀀⸀
圀攀圀攀 琀漀漀 栀愀瘀攀 愀搀愀瀀琀攀搀 琀漀 琀栀攀 猀椀琀甀愀琀椀漀渀⸀ 吀栀攀 漀昀昀椀挀攀 椀猀 昀甀氀氀礀 漀瀀攀爀愀琀椀漀渀愀氀Ⰰ 眀漀爀欀椀渀最 愀猀 瀀攀爀 
爀攀最甀氀愀琀椀漀渀猀⸀ 吀栀攀 焀甀愀爀琀攀爀 欀攀瀀琀 甀猀 戀甀猀礀 昀愀椀爀氀礀 眀攀氀氀⸀ 伀渀氀椀渀攀 琀爀愀椀渀椀渀最 瀀爀漀最爀愀洀猀 挀漀渀琀椀渀甀攀搀⸀ 
圀椀琀栀 愀氀氀 爀甀氀攀猀 昀漀氀氀漀眀攀搀 愀渀搀 昀甀氀氀 挀愀甀琀椀漀渀Ⰰ 猀漀洀攀 眀漀爀欀 眀愀猀 挀漀渀搀甀挀琀攀搀 椀渀 琀栀攀 漀昀昀椀挀攀 昀漀爀 
挀愀渀搀椀搀愀琀攀猀⸀ 匀漀洀攀 最漀漀搀 漀爀搀攀爀猀 昀漀爀 漀渀氀椀渀攀 琀爀愀椀渀椀渀最 昀爀漀洀 䤀渀搀漀渀攀猀椀愀 愀渀搀 吀栀愀椀氀愀渀搀 愀爀攀 
甀渀搀攀爀 攀砀攀挀甀琀椀漀渀⸀   
䌀漀渀猀甀氀琀愀渀挀礀䌀漀渀猀甀氀琀愀渀挀礀 戀甀猀椀渀攀猀猀 挀漀渀琀椀渀甀攀搀 眀椀琀栀 愀最愀椀渀 猀漀洀攀 最漀漀搀 渀甀洀戀攀爀 漀昀 䄀匀䴀䔀 愀甀搀椀琀猀⸀ 圀攀 
渀漀琀椀挀攀搀 愀 瀀漀猀椀琀椀瘀攀 甀瀀猀眀椀渀最 椀渀 琀栀攀 䤀渀猀瀀攀挀琀椀漀渀 愀渀搀 一䐀吀 漀爀搀攀爀猀⸀ 吀栀攀 攀挀漀渀漀洀礀 猀攀攀洀猀 琀漀 
戀攀 爀椀猀椀渀最 昀漀爀 最漀漀搀⸀
吀栀攀 䄀圀匀 䌀圀䤀 琀爀愀椀渀椀渀最 愀渀搀 攀砀愀洀 眀愀猀 挀漀渀搀甀挀琀攀搀 椀渀 匀攀瀀琀攀洀戀攀爀⸀ 吀栀椀猀 眀愀猀 愀昀琀攀爀 愀 氀漀渀最 
最愀瀀 搀甀攀 琀漀 䌀漀瘀椀搀ⴀ㄀㤀⸀ 吀栀攀 攀砀愀洀 眀愀猀 愀搀洀椀渀椀猀琀攀爀攀搀 戀礀 䤀儀匀 攀砀愀洀椀渀攀爀猀Ⰰ 昀漀爀 琀栀攀 昀椀爀猀琀 
琀椀洀攀⸀
ᠠ伀渀氀椀渀攀ᬠᠠ伀渀氀椀渀攀ᬠ 猀攀攀洀猀 琀漀 戀攀 琀栀攀 昀甀琀甀爀攀 渀漀眀⸀ 䤀昀 渀漀琀 愀氀氀Ⰰ 䤀 攀渀瘀椀猀愀最攀 愀 最漀漀搀 搀攀愀氀 漀昀 眀漀爀欀 眀椀氀氀 戀攀 
挀愀爀爀椀攀搀 漀甀琀 漀渀氀椀渀攀Ⰰ 戀攀 椀琀 吀爀愀椀渀椀渀最 漀爀 䌀漀渀猀甀氀琀愀渀挀礀⸀ 吀栀攀 眀漀爀氀搀 椀猀 最攀琀琀椀渀最 爀攀愀搀礀 昀漀爀 
漀渀氀椀渀攀 椀渀猀瀀攀挀琀椀漀渀 琀漀漀⸀ 䰀攀琀 甀猀 猀攀攀 栀漀眀 椀琀 挀漀洀攀猀 漀甀琀⸀
伀甀爀 搀爀椀瘀攀 漀昀 搀攀瘀攀氀漀瀀洀攀渀琀愀氀 眀漀爀欀 挀漀渀琀椀渀甀攀猀Ⰰ 渀漀眀 眀椀琀栀 爀攀渀攀眀攀搀 瘀椀最漀甀爀Ⰰ 愀猀 琀栀攀 眀栀漀氀攀 
愀瀀瀀爀漀愀挀栀 琀漀 挀甀猀琀漀洀攀爀 猀攀爀瘀椀挀攀 椀猀 挀栀愀渀最椀渀最⸀
䄀猀 甀猀甀愀氀Ⰰ 眀攀 氀漀漀欀 昀漀爀眀愀爀搀 琀漀 爀攀挀攀椀瘀椀渀最 礀漀甀爀 猀甀最最攀猀琀椀漀渀猀Ⰰ 最爀椀攀瘀愀渀挀攀猀Ⰰ 椀搀攀愀猀 愀渀搀 漀琀栀攀爀 
昀攀攀搀戀愀挀欀⸀
䄀渀琀椀挀椀瀀愀琀椀渀最 礀漀甀爀 挀漀渀琀椀渀甀攀搀 猀甀瀀瀀漀爀琀 愀氀氀 愀氀漀渀最℀䄀渀琀椀挀椀瀀愀琀椀渀最 礀漀甀爀 挀漀渀琀椀渀甀攀搀 猀甀瀀瀀漀爀琀 愀氀氀 愀氀漀渀最℀
䈀攀 猀愀昀攀Ⰰ 戀攀 栀攀愀氀琀栀礀℀

 

 

 

䐀椀眀愀欀愀爀 䨀漀猀栀椀⸀     



䤀儀匀 挀漀渀搀甀挀琀攀搀 爀攀最甀氀愀爀 挀漀甀爀猀攀猀 椀渀 䤀伀䌀䰀Ⰰ 䤀渀搀椀愀⸀ 䄀倀䤀 㔀㄀　 挀漀甀爀猀攀 挀漀渀搀甀挀琀攀搀 
戀礀 䴀爀⸀ 䐀椀眀愀欀愀爀 䨀漀猀栀椀 昀爀漀洀 　㜀琀栀 匀攀瀀琀攀洀戀攀爀 琀漀 ㄀㈀ 琀栀 猀攀瀀琀攀洀戀攀爀 ㈀　㈀　

刀攀洀攀戀攀爀椀渀最 䴀爀⸀ 䰀⸀ 䴀⸀ 吀漀氀愀渀椀 䜀爀愀搀昀愀琀栀攀爀 漀昀 一䐀吀 椀渀 䤀渀搀椀愀℀℀℀ 䤀渀猀椀最栀琀 
儀甀愀氀椀琀礀 匀攀爀瘀椀挀攀猀 愀氀漀渀最 眀椀琀栀 䤀匀一吀 倀甀渀攀 挀栀愀瀀琀攀爀 倀爀攀猀攀渀琀攀搀 䰀⸀ 䴀⸀ 吀漀氀愀渀椀 
䴀攀洀漀爀椀愀氀 愀眀愀爀搀 琀漀  䴀爀⸀ 䈀⸀䬀⸀匀栀愀栀 漀渀 匀攀瀀琀攀洀戀攀爀 ㄀㘀Ⰰ ㈀　㈀　⸀ 䤀儀匀 圀椀氀氀 瀀爀攀猀ⴀ
攀渀琀 琀栀攀 愀眀愀爀搀 攀瘀攀爀礀 礀攀愀爀⸀



䤀伀䌀䰀Ⰰ 䤀渀搀椀愀 椀猀 愀氀眀愀礀猀 攀愀最攀爀 琀漀 氀攀愀爀渀⸀ 䤀儀匀 挀漀渀搀甀挀琀攀搀 䌀漀甀爀猀攀 漀渀 䄀匀䴀䔀 
匀攀挀琀椀漀渀 䤀堀 昀爀漀洀 ㄀㤀琀栀 匀攀瀀琀攀洀戀攀爀 ㈀　㈀　⸀ 吀漀琀愀氀 㐀㜀 挀愀渀搀椀搀愀琀攀猀 愀琀琀攀渀搀攀搀 琀栀攀 

挀漀甀爀猀攀⸀

䄀圀匀 䌀圀䤀 琀爀愀椀渀椀渀最 漀渀 䄀倀䤀 ㄀㄀　㐀 眀愀猀 挀漀渀搀甀挀琀攀搀 戀礀 䴀爀⸀ 嘀愀椀戀栀愀瘀 䜀漀最愀眀愀氀攀 
昀爀漀洀 ㈀㐀琀栀 匀攀瀀琀攀洀戀攀爀 ㈀　㈀　⸀



Quiz
Solve the four jumbled words to form four ordinary NDT / Engineering words.

Fill up in the space provided and pick up alphabets in the circle to form the

answer to the question below.

A G M A M

P D N A E E C I M

S M U E L I N O

R Y A R A

Question – A unit of luminous intensity?

Answer to previous quiz:

Coil

Activity

Gain

Emission

Answer to the question – SIGNAL


